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https://www.minecraft.net/ja-jp/about-minecraft
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public class Strikelightning extends JavaPlugin implements Listener {
of public veid onEnable(){
this.getServer().getPluginManager().registerEvents( listener: this, plugin: this);
}
@EventHandler
@ public veid onClick(PlayerInteractEvent event){
Player player = event.getPlayer();
if(player.getInventory().getTtemInMainHand().getType().equals(Material.STICK)){
BlockIterator iterator = new BlockIterator(player);
for(int i = 0; i<100; i++){
if(iterator.hasNext()) {
Block block = iterator.next();
if (block.getType() != Material.AIR) {
= block.gethorld().strikeLightning(block.getlLocation());

break;
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for(int i = @; 1<100; i++){
Location 1 = loc.clone().add( x 3* Math.pow(Math.sin(i* 0.0628),3), v: @d, z 3* Math.pow(Math.cos(i* ©.0628),3));

world.spawnParticle(Particle.FLAME,1, i @);
Location 12 = loc.clone().add( x 3* Math.sin(i* 0.0628), v
world.spawnParticle(Particle.FLAME,12, i @);

i}

@d, z 3* Math.cos(i* 0.0628));
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